1
—® @ /
é @ []
®O, ®) ©/C 7]
1 | 1l H [ @ N
1 I | @ N
8
6 &
u__l 9 ) 8 A -
(o
e s
] A
3 0 9 @ 0 ¢ 0
N
2 ..
4 e [ y ;
5 &
1 . s
OSALUETTELO:
PART 1 Side T1+1pcs Right / Left
PART 2 Steps 4/5/6/8pcs (Wooden or steel)
PART 3 Locking bolts16/20/24/32pcs M8x40 DIN 603 A4 6 2
PART 4 Washers 16/20/24/32pcs M8/25 DIN902 A4
PART 5 Nuts 16/20/24/32pcs M8 DIN34 A4 6

PART 6 Foldable stairs1+1pcs Right / Left

PART 7 Nuts 2pcs M10 DIN934 A4

PART 8 Washers 2pcs M10 DIN92021 A4

PART 9 Washers 2pcs @45/10x2 Nylon B3578NN 2
PART 10 Washers 2pcs @35/10x7 Nylon ACKO0032

PART 11 Bolts M10x80 2pcs DIN?31 A4

PART 12 Leaver for lifting the foldable stairs (Optional)

ASSEMBLY INSTRUCTIONS:

1) ALIGN THE SIDES (PART )

2) PLACE THE FIRST STEP (PART 2) USING LOCKING BOLTS, WASHERS AND NUTS (PARTS 3,4 ja 5) ON
ITS PLACE. DO NOT TIGHTEN THE BOLTS YET!

3) PLACE THE REST OF THE STEPS AS MENTIONED ABOVE AND TIGHTEN ALL THE SCREWS

4) ASSEMBLE THE SIDES (PART 1) AND THE FOLDABLE STAIRS TO EACHOTHER USING PARTS 7-11

5) ALWAYS USE STAINLESS STEEL SCREWS WHEN ASSEMBLING THE LADDER TO THE DOCK.

CARE AND MAINTENANCE:
Despite the electrochemical polishing the metal parts should be cleansed and waxed regularly.
Also the wooden steps should be treated with wood oil at least once a year.

JOROS OY

TAITOTIE 17 Tel: +358 20 756 9770
P.O. Box 10 Fax: +358 20 756 9775
58501 PUNKAHARJU E-mail: myynti@joros.fi

\_ FINLAND www_joros.fi Yy,




